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m(Fe)= 4.5-2.8=1.7g                                

    
 1L  1.4g0.5Lm(O2)= 1.4/2=0.7g   

m(FeO2)= 1.7+0.7=2.4g     
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5Ca - C  Cu 
 N2  SO2  C2H6  O2 - CO 

     
6

C2H5OH   
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8
H2O (l)              2  H2(g) +O2(g)             2

C2H6 (g) +7O2(g)           4 CO2(g) +6H2O(l)                      2
CH4(g) +  2 O2(g)            CO2(g) +2H2O(l)                    

C2H7O(g) +3O2(g)           2 CO2(g) +3H2O(l)                       

9

10C3H8 (g)           3 CO2(g) +4H2O(l)                      

          
C3H8 (g)  +5 O2            3 CO2(g) +4H2O(l)                      

H2 (g)+  O2(g)            2H2O(l)                       2

        

2C4H10 (g) +8O2(g)               8 CO2(g) +10H2O(l)                       

      
2C4H10 (g) +13O2(g)               8 CO2(g) +10H2O(l)                      

112H2 (g) +O2(g)             2H2O(l)                                     
              .

          

C (s) +O2(g)             CO2(g)                          
          

         

2C (s) +O2(g)            2 CO(g)                      
         
       

2NO (g) +O2(g)             2NO2(g)                      
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Mg (s) +O2(g)             MgO2(s)     
Mg (s) +O2(g)             2 MgO (s)     2

13
4Al (s) +3O2(g)            2 Al2O3(s)

     2Al (s) + 3H2O(g)            3H2(g)  +  Al2O3(s)

4Al (s) +3CO2(g)             3 C (s) + 2Al2O3(s)

     2Al (s) +Fe2O3(g)              2Fe(s) + Al2O3(s)

14
4Fe (s) +  3 O2(g)            2Fe2O3(s)                      

       3Fe (s) +  2 O2(g)            Fe3O4(s)                        
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16

17

10(g) 
 m=5+1.22=6.22g

2Zn (s) +   O2(g)              2ZnO(g) 
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Cu2OCuO

23 

CuOCuO
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Cu2O

Cu2O2Cu (s) +   O2(g)              2 Cu2O (s) 

194Fe (s) +  3 O2(g)            2Fe2O3(s)

116g160g 
2g m=?

                

                           

20CH4 (g) +  2 O2(g)               CO2(g)+ 2H2O(l)

80L 160L 

320L  
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2H2O2 (g)           O2(g) +2H2O(l) 

16
    C (s) +O2(g)             2CO(g) 

)(CO Fe2O3

)(CO2Fe2O4

 
Fe2O 3 + CO            CO2 +2 FeO
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